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MaxMarks 30 . . Ttime:3hours
Use of Calculator is permrtted '
- z-score table is prowded attheend -

~ SectionA: MultlpIeChmce destlons S V'(irMarRseach) )

is

A sample size of 17 observations is selected.from a normal populatio_n"wi_t_h mean =

50. The sample mean and variance are 48 and 8 respectively. The value of t — statistic
{(A)0.25; (B)-2.82; (C)—-2.2; {D)0.7

A ciass'has equal number of boys and girls. The standard deviations of their weights are S; =
2 kg for girls and S, = 2 kg for boys What is the combined variance of the werghts of the

“whole class ?

(A)29; (8)16; ()8 (D)8

t-distribution is abproximatelv normal for sample size

(A) =30; (8)=10; (C)=15; (D) =220

Two sets of data consisting of 10 and 20 observations have same mean 8 with standard

" deviations of 1 and 2, resbe’étively If the two data sets are combined, then the variance is

(A3 ; (B)2;(0)5; (D)L5-

_In Binomial d|str|but|on wnth number oftrlals N 9 and mean ,u 6 the standard

- (C) Second moment about mean; - (D)none of the above

= devratron—rs :

(AVZ ; (B2 ; '(,c:)s/z; (D) 2/3

--The standard deviation of a sampimg d:strlbutlon of a statistic is called its :

{(A) Root mean square ; o - (B) standard error

An estimate- of a populatlon parameter given by two numbers m which the

._parameters. may be consrdered toliels called

(A) Interval estimate of the parameter (B) mterval estlmator ofthe parameter
(C) Point estimate of the parameter: (D) none of the above"

If a test rejects the hypothesis when it is true, we say that:

~ (A) Type l erroris made ; : (B) type Il error is made;



(C)'either_type lor type Il error is"mad'e';_ “{D) none of the above '

9 The followmg statlstlcalmtest is- used to ascertam whether there is- srgmflcant difference

between the variances of two sets of observatlons
(A} t-test;. ~ {B) F-test’ "~ (C)Chisquare test; (D) Regresston :

"10. If the mean of a sample is 20, the standard error of mean is 1 and the t-statistic for 95% level

of confidence is 2.5, the population mean will be in the range
(A)17.5t022.5; {B)15t025; (C)20to25; (D) 15to 20

* Section B : Answer any FOUR of t.h'e_ fellow_ir'jg':_; - 5 ~. .. (5-Marks each)-

__'1m1-.wA~‘~group_—o'f-mS__B—_internetashoppers—were-"askedfhowfmuchjthey-*shent-"p'er-year on the

‘internet. The survey reveals a mean of $304.60 and standard deviation of $325. Test
~ the hypothesis using 95% confidence interval. Calculate p-value and test the hypothesis at
level of significance 0.05.

12 Find the area under the normal curve in each of the following cases,

{a) Between z=-2andz=
(b) Between z=-1 and z= 1-
(c) To the nght ofz =2.05
Use the z-score table given.

13. Inan expenment on extra -sensory perception (ESP) an mdwldual in one room is asked to-
state the color (red-or blue) of a card chosen from a deck of 50 well shuffled cards by an
individual in another room: It is unknown to the subject how many red or blue cards are in
the deck. If the subject identifies 32 cards correctly, determlne whether results are
s:gmflcant at the (a) 0.05 and (b) 0. 01 levels of mgmfrcance '

‘_W“‘IYL_Wh_t d“"‘“““““o you und‘e‘r‘st‘a‘nd b Blnomlal normaf anf:l poisson a'sfributions? What's the

difference between binomial- and normai distribution? Where do we use poisson
dlstrrbutlon? . S '

15. What is test of hypothe5|s? How is nuII hypothesrs formulated? What are crltlcal
values? What is confidence mterval? C ‘

" 16. What are. t, F, and x? statlstlcs'-’ ‘What are their 5|gmf|cance? Descrlbe the context in

whlch each ofthe statlcs is used

17. What are unblased estimates? What are efﬁcaent estlmates? Comment upon pomt estimates

and mterval estimates and the:r relrablhty
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Supplementary Tables

‘Table 1. Table for z-score test: .

Level of Significance & 010 © | o005 0.01 T o0.005 [0.002
‘Critical Values of z for one | -1.28 or -1.645 or -2.33 or -2.58 of. -2.88 or
tailed-tests 1.28— 1.645 2.33— 2.58 2.88

Critical Values of z for one | -1.645 aﬁd “1-196and - | -2.58 and -2.81 and -3.08.  and
tailed tests. ... .. .. ... | 1.645 1196 . la2s8 ... 1281 . 3.08

Table2.

o o
 This tablé presents the irea bétween the mean and the # soore . When Z=1.96, the shaded

‘area is 0.4750. _
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Eowresd . Adipted by pefimtision from Staifstficel Methods by Geaige W, Seedecar and Wilkinm & Cochum, sixth edition
Sy 1967 by ‘The: Towa: Stme Trndversity. Press, Ames !‘n'_vgn‘.'p;‘.ﬁ_ﬂ. )




